Energy deposit problem



Energy deposit on scintillator

edep_scint (1./7(2.7[0])) " strontium(x) + ( 1./ (2. [1])) * yttrium(x)
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Energy deposit depending on trigger

edep_scint {MPPC _trigger != 0} edep_scint {MPPC_trigger > 10}
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Energy deposit depending on trigger

edep_scint {MPPC_trigger > 20} edep_scint {MPPC_trigger > 30} :
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Energy deposit depending on trigger

edep_scint {MPPC _trigger > 40} edep_scint {MPPC _trigger > 50}
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Energy deposit depending on trigger

edep_scint {MPPC_trigger > 60} edep_scint {MPPC _trigger > 70}
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Energy deposit depending on trigger

edep_scint {MPPC _trigger > 80} edep_scint {MPPC _trigger > 90}
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Energy deposit depending on trigger

edep_scint {MPPC_trigger > 100} edep_scint {MPPC_trigger > 110}
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Energy deposit depending on trigger

edep_scint {MPPC _trigger > 120} edep_scint {MPPC _trigger > 130}
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Energy deposit depending on trigger

edep_scint {MPPC_trigger > 140} edep_scint {MPPC_trigger > 150}
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Energy deposit depending on trigger

edep_scint {MPPC_trigger > 160} edep_scint {MPPC_trigger > 180}
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Energy deposit depending on trigger
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edep_scint {MPPC _trigger > 200}
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edep_scint {MPPC _trigger > 300}
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